EL SWING OUT PANEL

067 [17]1 for EL Wallmount Enclosures

N
” 2.17 [35] for XEL Wallmount Enclosures

LOCATION & SIZE OF MOUNTING
HOLES FOR STOP BRACKETS.
(TYPICAL) TOP & BOTTOM.

214
ﬁﬁ A 541 op
o
07 %U H
R yyeree ) W) e
A A\ —
EL ENCLOSURE WiTH [\ | —
FLAT SUB PANEL AND
SWING OUT PANEL.
i h SECTION A-A
T il
| 12.00 |
‘ (30513 o INSTRUCTIONS
1. DETACH DOOR HINGE BY PULLING
PIN.
2. DRILL HOLES FOR STOP BRACKET.
3. ATTACH BRACKET TO SUBPANEL.
4. ASSEMBLE LATCH TO SUBPANEL.
5. INSTALL STOP BRACKET (AND
SPACER IF REQUIRED).
6. ASSEMBLE HINGES BACK TO BACK.
7. ATTACH HINGE TO BRACKET.
&
5e
2.14 A 5/5
[ 547 — ISYAS PART NAME
“@f H A 2| 10-32 x 1/2 BUTTON HEAD S.S.SCREWS
|
4 7 % STOP A 4 WASHERS
‘ 1 BRACKET INE LATCHES
‘ / RN A |2/3 10-32 SEALING WASHERS
- IS mu‘ 158 N |2/3 3/8 NUTS
A - /A [2/3 3/8 X 1.00 BOLTS
142 [401] :
[36]—1 SUB PANEL AND SWM\NG ouT N 10752 P NUTS
PANEL ARE THE SAME SIZE. INBE SCE CONCEALED HINGE TAB
(EXAMPLE SCE-24P24). A2\s SCE CONCEALED HINGE
@ 1 LATCH SIDE BRKT. .075 H.R.S.
[ s Y e ] Al HINGE SIDE MTG. BRKT. .075 H.R.S.
= = A SWING PANEL BLANK: .125 H.RS.

EL ENCLOSURE WITH BENT SUB PANEL
AND SWING OQUT PANEL.

Made in the USA. 016



